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1. Figures to the right indicate full marks ;
2. Each section should be written in a separatd answ bgok
3. Be precise and to the point in your answer

SECTION-I

(A) List different phases of compiler? What are the advantages (05)
of breaking up the compiler functionali o twoldistinct
stages? Explain the functions of symbol ta
error handler,
(B) Explain classes of grammar as per Gh ierarchy. (03)
{C) What is system software? Explain ho piler, Assembler, (03)
Interpreter, Linker, Loader, D iver are different then

various application scftware?
(A) Consider the gramma Sil bSas | «. (05)
i. Show that thisdgra > mbiguous by constructing

two differeng, le st ivations for the sentence
abab.
i, Construct or onding right most derivations for

abab.
iii. Construct onding parse tree for abab.
iv. What lan es this grammar generates?
Exp!ainﬁ' i parsing techniques with block diagram. (04)
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) Differentiate . NFA. Design a FA which accepts set of (03)
strings containing exactly five 1’s at any position in every
stringfever al@abet 2 =40 1%,
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move the useiess ii) Find and remove left (05)
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- (B)  Construct a predictive parsing table (M-tabie) for glven (05)
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sign a CFG for the language L(G) = {a"b"’n ] n>0} ’

Q3 Attempt Any TWO

(A);_y; ‘What is recursive-decent parsing? Write a procedure .
for the recursive-decent parsing of the following CFG

Ei=> TR
R->4TR|-TR | €
T90|1|2|3[4|5|6|7]8]9
(B) Eliminate the left recursion from the following
Sl L
Bioa g B 7
i. Construct the predictive parser FG Qenerated -~

after elimination.
ii. Show the behavior of parser o tring (a, (a, a))
(C) Show that the following CFG
A S > Aa | bAc | Bc | bBa

A-d :
B g b
is LR(1) but not LALR(1).
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Q.4 |
(A) Generate SLR parsi \ the following grammar and  (05)
show error reco i entation for string 3 + 8 +*+ 9
and show stack cOn moves.
X=2X+X|X
Yy>011]2.03] 617189
(B) Differerfiate ictive Parser vs. Shift-Reduce Parser {03)
(C) Whatdoyo and by scoping in the symbol table? (03)
Give the differ between scope-by-numbering and

TWO (12)
n SLR parsing table for the following CFG
bAb | ba .

n LALR(1) parsing table for the following CFG

i Torps i [y
Ba | b) L do ! i}da

"uss R-R and S-R conflicts with examples for SLR and
1) parsers. Why $-5 conflict is not possible?
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Q.6 Attempt Any TWO (12)
(A) Consider the following code fragments. Generate the 3AC
for it assuming ‘a’ is allocated static storage.
begin '
fori:= ttondo
forj:=1tondo
clij] :=+0; s e e b
for i:= 1 to n do k) T
forp.= 1o ndo : :
fork :=1ton do
cfi,j] := <[i,j]1 + ali, k] x bk,j]

end

(B) What is locality of reference? Optihize the followin

fragment
Q =104

For (j=0;j<10;++j)

For (i=0;i<10;++i) \.
{
ke xH] -gan

20l =xfij = xiR]
b o
(C) Explain following code optimizatiem.te es in brief.
i. Loop fission
ii. Loop unrolling
ii.  Loop unswitching
iv. D. Peephole optisniz#




